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QUESTION 1

What does "E" determine in account assignment while using consumption posting indicator to determine the controlling
object for the sales item? Please choose the correct answer.

A. E determines that the sales order is a controlling object

B. E determines that the sales order is a project is a controlling object

C. E determines that the sales order is a cost object

D. E determines that the sales order items are relevant for delivery through sales and distribution

Correct Answer: C

QUESTION 2

Project System has its own Organizational structure, which can be a matrix structure.
Please choose the correct answer.

Response:

A. True

B. False

Correct Answer: B

QUESTION 3

Which of the following prerequisites need to be met in order to analyze the capacity requirements of an
activity? There are 3 correct answers to this question.

Response:

A. Scheduling must have been carried

B. A distribution key must be maintained in the work center

C. A work center must be maintained in the activity

D. The capacity requirements indicator must not be set in the network header

Correct Answer: ABC

QUESTION 4
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What are the various transactions in SAP PS with which a work breakdown structure can be created? There are 3
correct answers to this question.

A. Project planning board

B. Structure planning

C. Create work breakdown structure
D. Project planning

Correct Answer: ABC

QUESTION 5

You want to extrapolate basic dates from lower to higher-level WBS elements. Which planning method do
you choose?

Please choose the correct answer.

Response:

A. Bottom-up

B. Strict bottom-up

C. Free planning

D. Top-down

Correct Answer: A
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